2000 AF3|ZREEE] 2300 ARSI EAAW] 2330 ZFAEA 2334 FolEXA - ]
e =5
o AF o *
A sk A Al 3k
Pt 19,829,773 |[5 7,040,299 %= 4,341,060 Al 7,671,918 ¥ 776,496 ]
A%z o754
%301‘1%03 H] 22,324
18,424 |01 YWk

OYukEgn] F A% (=14,224)
— A ukg=g-v] 5,304,0009 = 5,304
-+ 1,520,000¢ = 1,520
— S 5,400,000 = 5,400
— a8 2,000,0009) = 2,000

OF7ka8 9 (=4,200)
- BN A3 9 FAFG(F7F a78)

70,0009 * 129 = 53] = 4,200
3,900 (02 SPAF-FH]

Oojdold Tx d5u A%t 60,0009 * 18ufj = 1,080

ORFAIA FAA Aoty TS (=2,620)
e e s B 60,0009 * 21 = 120




2000 ARSI ZER] 2300 ARS|EAGH] 2330 ZPREEA] 2334 frobEA 120 AAAAAH 201 LWk
v} =
o AF o s = 7] =
A&} Al Al & =
— A A= 5,000 * 500%- = 2,500
O<Solblo] TH #Zut A= 100,00091 * 2vj = 200
%g%] 3,000
3,000 |01 =Fujoin]
OolEE % JFZ=A ofn) 2,000,00091 = 2,000
ORSAIA ATy gFFHoin 1,000,000¢) = 1,000
Towss 1200
39,500 |10 YA} B HAFF
Ootsd FHad3] FARF(AF, dF)
70,0009 * 309 * 23] = 4,200
Ootsd =us FA A 70,0009 * 609 = 4,200
ORSAA FAA B4uS (=4,000)
—Zo) WS 150,000 * 207 = 3,000
— A WS 100,000} * 107 = 1,000
OotsHAAAE ol A&AHs 100,00090 = 309 = 3,000
ORSAIA B EALR 5A1A vmAZE 50,0009 = 809 = 4,000
OAlAdoks stAlT# 3] AR 30,0009 * 1207 = 3,600
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2000 A}F3] 7| Ekn) 2300 A}z B An] 2330 7}AEXA 2334 §-o}E-x 120 A734 74 1) 301 durR A

C _
o At o R = 7] E
A% AA 2
ORFAA A=AZA0 AnjEd 15,0009 * 408 * 25¢ = 15,000
O golde BEAAYH 3] WA 3] A R4
50,0009 = 307 = 1,500
2,500 |12 7| EFRAFE
OxHoldo]l @ HFAAE 232 AdE 9 (=2,500)
—olEEA G} 20,0009 * 507 = 1,000
—mols 30,0009 = 507 = 1,500
i%%;qm 19,762,449 |[== 7,040,299 = 4,341,060 Al 7,604,594 ¥ 776,496 |
%Hi%wﬁ 17,018,949 |[= 7,040,299 & 4,341,060 A] 4,861,094 ¥ 776,496 ]
%)1&_@@% 1,521,023 |[== 426,000 &= 730,002 A] 284,927 % 80,094 ]
1,490,723 |01 A3 HAGA G35 =
O2d 2y At By 9,240,0009 = 9,240
[= 554 A 1,204 % 7,392 1
Oadauvrbd 2 7Eg s At 748 A1 18,720,000 = 18,720
[ 9,360 A 9,360 ]
OAlE Haobs AHB AT 5,000,000 = 5,000
[= 750 A 1,750 % 2,500 1
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2000 A}3) 7l k] 2300 A}3] K 1] 2330 74 EA| 2334 frolEA| 210 HZEAY 301 AWtR G

e =5
o AF o At = 7] *
Alg Al Al & =
O7F49e F8n] Y 65,408,000¢) = 65,408
[%= 4,637 Al 10,819 ¥ 49,952 1
Oadau7id 94 7P 9ehAt) Algnl A1 10,920,0009 = 10,920
[= 3,276 A 7,644 ]
OF2Adgols F2H A9 1,331,595,0009) = 1,331,595
[ 413,850 % 680,445 A 217,050 & 20,250 |
OXRZoME 19 182 2E7]1ALY 3,000,000 = 3,000
[= 1,500 A 1,500 |
O8 K 3ols Was el 71 A< 13,840,0009) = 13,840
[= 6,920 A 6,920 |
OF-F8 2dauv7kd 2 7P ebAt €An 33,000,0009 = 33,000
[= 16,500 A 16,500 ]
24,300 |10 YA B A=
ORS WA} BEus A wA 24,300,0009 = 24,300
[ 12,150 &= 4,860 Al 7,290 1
6,000 |12 7|E}RA=
Ools9d &5H] 6,000,000¢ = 6,000
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2000 AFE|AER] 2300 AFSEGH] 2330 JFAEZR 2334 frolE A 210 HEANY 301 Y¥rRAE
e =5
o AF o s = 7] *

Alg Al Al & =

%gé}siﬁgg% [ 1,200 A 4,800 ]

%82}01%1 14,359,627 |[=+ 6,033,149 % 3,381,287 A 4,248,789 & 696,402 ]

14,359,627 |02 A A 4 HZ

Oo}EEAA A £gn) 1,052,811,000¢ 1,052,811
[= 142,564 A] 213,845 & 696,402 ]
ORA| Aol AE £odn] =Y 384,000,000 384,000
[= 192,000 %= 96,000 Al 96,000 ]
ORSAIA BEE(HFH]) 6,651,031,000 6,651,031
[=+ 3,608,999 % 1,443,600 A 1,598,432 |
ORS A 3w w744 398,448,000 398,448
[ 199,224 & 79,690 Al 119,534 ]
ORGAA 2peEL ) 23,180,000 23,180
[ 11,550 %= 4,635 Al 6,995
ORSAA FAR} ARt} 121,700,000 121,700
[%= 24,340 A 97,360 |
ORSAIA FAA 1730 3,804,752,000¢ 3,804,752

[+ 2,002,376 &

800,950 A

1,001,426 ]
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2000 ARS|ZRER] 2300 ARSI EAGR] 2330 7REEA 2334 fobmAl 210 BHEARY 307 ®IZkolA
e =5
o A o g = d =

A3 AR % =
ORZFE S A A Wikl 5 1) 112,000,000 112,000
(= 53,760 Al 58,240 |
OAFAY BEAA ZH|H] 38,000,000 38,000
[ 19,000 %= 7,600 A 11,400 ]
OAlAolo] & wHAo} BEa A 1,587,045,000¢1 1,587,045
[ 634,818 Al 952,227 ]
ORSAIA ol d7aen] A4 186,660,000 186,660
(= 93,330 Al 93,330 |

i?ié S 748,530 |[= 374,265 % 149,706 A 224,559 ]

748,530 |01 A]AIH]

OF - ¥ HEAA AE=(174%) 300,960,000 300,960
[ 150,480 &= 60,192 A] 90,288 |
OAFAD BHEAA 7|51 (NES) 150,000,000 150,000
[= 75,000 %= 30,000 Al 45,000 ]
OARABEAY BN NSHA(ENE) 297,570,000¢) 297,570
[ 148,785 = 59,514 A 89,271 |

4B2L 389,769 |[=* 206,885 &= 80,065 Al 102,819 ]

- 6/10 -




2000 A}F3] 7| Ekn) 2300 A}3| X A 2330 7}AEXA 2334 §-o}E-x 210 R EZAMY 402 T 7EAE-0) A

i 5 o AF N Ak = 7] B
A& A A &) &
389,769 |01 WI7HAFE 1%
Qo s HAAIA 75 (535 o1ed) 293,769,000¢ = 293,769
[=- 146,885 & 44,065 A 102,819 ]
ORSHRA LAY A X H]| 96,000,000¢) = 96,000
[= 60,000 %= 36,000 ]
220 2,743,500
AAALY
301 400,000
Wk A
400,000 |01 A}3] BAA 582
OA o} o] o} oSt} 400,000,000¢) = 400,000
307 610,100
vl 7ko] A
500,900 |02 FI7+AAH %
OABFRAJEGAAE d ol 5 EAAIE A5dARH]
500,0009 * 26702 * 13] = 13,000
OAZFRGAA 48] =¥ (=143,000)
— 71X A 9,000,0009 = 59 = 45,000
— AN A 2,000,0009 * 798 * 79 = 98,000
OAtolH frobd RAE 91 =¥
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2000 A}3] 7l EH]

2300 A}z KA

2330 7FAEA 2334 frolEA

220 AAALA

7} 2 ]
o b o & = d =
Alg Al Al & =
1,000,000¢) * 3% = 129 * 1/2 = 18,000
OAzHAd 2 Fd BSAA 9u] =Y
400,0009 = 3574 = 129 = 168,000
OFelotdd BHAE FAR 25549 A
100,000 * 279 = 1294 = 32,400
OEFAIAFAA By & Al Q1du] A<
35,000,0009) = 35,000
OREGA A F7FS-FA A wA e 19 40,000,000 = 40,000
Oo}lEE A A o]do|Z7F PALA < 500,00091 = 3714 = 1,500
OBRSAA 27} 3|9 A4 50,000,0009 = 50,000
109,200 |04 WIZF&IALEZ - S
Ools 99 S XA 94 A4
10,0009 = 607 = 123] = 7,200
Oof=lo] 3t YA« <l (=50,000)
— A A (o] F o) 50,000,000¢) = 50,000
OAldots etAlFH 3] 50,0009 * 2007 = 10,000
OXE 5 Astus PApA A 90,0009 * 30078 = 27,000
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2000 ARS|ZNERM] 2300 ARS|EGH] 2330 ZREEAl 2334 frobEAl 220 AAARY 307 WIzkelx
v} =
Al & Al A g = A * N 7 =
OREAA 242 A3 NMHA K 2,000,000 * 13] = 2,000
ORSA|AolE 7] 2}e] 3 3,000,0009) = 3,000
OR524 F(ASH3]) PAA < 10,000,000 = 10,000
i?%ﬂl%ll?—ﬂ%ﬂl R
1,610,000 |01 A]AdH]
Ooldo] Eol¥ 7fEH] (=80,000)
P 20,000,0009) * 2744 = 40,000
- R 5,000,000 * 874 = 40,000
OANHojA o] A A3 FALH] 1,530,000,0009 = 1,530,000
30,000 |02 7+ H]
OA ol el Hal= 7han)| 30,000,0009 = 30,000
10,000 |03 A1 F-tiH]
OANHojdo]l A Z A AR 10,000,00091 = 10,000
%)% ol 43,000
43,000 (01 W7HAFE B %
O=.¢d BSAA 75w A« 2,000,000 * 974 = 18,000
OAlZg ool A=< 25,000,000 * 1th = 25,000




2000 AF3]7f)ekn] 2300 A}3] B A1 2330 7FAEXA 92334 G-o}Ex 990  ZFF) AL 405 A3 S|
7} 2
o AF of AF = 7] =
A A A& =
405
A 5] 40,400
40,400 |01 AL B-3E 2 =0

40,000,000%) * 1t}

400,000 = 1tj

40,000

400
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